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* Formal:
* 1. Greedy choice property : a1l MEHO| O|2l MEHD| PaF X
» 2. Optimal substructure : £2&X| £[Xol| > HH|ZX| =[XoH
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ALGORITHM 6 Greed y (flmnge-NIaking Algorithm.

procedure change(cy, ca, ..., c,: values of denominations of coins, where
Cc| > €2 > --+ > Cp: N: apositive integer)
fori :=1tor
d; := 0 {d; counts the coins of denomination ¢; used}
while n > ¢;
d; :=d; + 1 {add a coin of denomination c¢; }
n:=n-—c;
{d; 1s the number of coins of denomination ¢; in the change fori =1,2,...,r}
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int n; cin >> n;
n=1000 - n; // HZ2E =

int coin[6] = {500, 100, 50, 10, 5, 1}; // =

int total = @; // AtE%t =7H JH=
for (int i = 0; i < 6; i++) {
total += n / coin[i];

n %= coin[i];

cout << total << ‘\n’;
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- 0f) & 5%, P(1) =3, P(2) =1, P(3) = 4, P(4) = 3, P(5) = 2
+ 52 (1,2,3, 4,5] M2 Mo
+ T8 ARZE L AJ2F: P(1) = 32
+ W ARZE S AR P(1) + P(2) =3+ 1 = 42
+ ¥ ARZE S AR P(1) + P(2) +P(3) =3+ 1+ 4 = 8%
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int time[1001], total = @, sub = 0©;
int n; cin >> n;
for (int i = 0; i < n; i++) {

cin >> time[i];

sort(time, time + n); // Ql= A|ZfO
for (int 1 = 0; 1 < n; i++) {

sub += time[i];
total += sub; // &% 67|

cout << total << '\n';
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ALGORITHM 7 Greedy Algorithm for Scheduling Talks.

procedure schedule(s; < so < --- < s, start times of talks,
e] < ey <--- < e, ending times of talks)

sort talks by finish time and reorder so thate; <e; < ... <e¢,

S=0

for j .= 1ton
if talk j is compatible with S then
S = SU {talk j}
return S{.S is the set of talks scheduled}

 https://en.wikipedia.org/wiki/Interval_scheduling#Greedy_po
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